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Subject – Maths
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M.M.=
(Section A)
Note-contains 10 questions of 1 marks each.

1. Write the prime factor of 156

2. Write the polynomial whose zeroes are – 5 and 4

3. Write the next term of AP. √2, √8, √18, -------

4. If cos A = 4/5 find 9 cot2A – 1

5. Is lines x + y = 5, 2x + 2y = 10 are consistent.

6. Is the probability of winning a game if 2/5, what is the probability of lasing it?

7. In figure, <ABC = 90o and P is mid point of AC find the length of BP
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8. A tangent PQ at a point P of a circle of radius 5 cm meets a line through the centre O at a point Q so that OQ = 12cm then length PQ is.

9. Find the area of a sector of a circle with diameter 14cm if angle of the sector is 60o
10. The point of intersection of the o give (more than and less than type) is given by. (20.2, 30.6) what is the median

(Section – B)

Section B contains 5 question of 2 marks each.

11. Find the zeroes of the quadratic polynomials and verify the relationship between the zeroes and the coefficients. 3 + 7x – 6x2
12. Evaluate = [image: image2.png]



13. Find the value of k, for which the points are collinear (8,1) (k,-4) (2,-5).

14. In figure DE||AC and [image: image4.png]EC
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 prove that DC||AP.
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15. A die is thrown twice. What is the probability that-

(i) 5 will not come up either time?

(ii) 5 will come up at least once?

(Section-C)


Section C contains 10 questions of 3 marks each.

16. Use Euclid’s division algorithm to find HCF of.  4052 and 12576.

Or

Use Euclid’s division lemma to show that the square of any positive integer is either of the form 3m or 3m+1 for some integer m.

17. Check whether the pair of equations.

x+3y=6 and 2x-3y=12 is consistent. If so solve them graphically.

18. Solve the following system of equation for x and y.

(a-b) x + (a+b) y = a2-2ab-b2
(a+b) (x+y) = a2+b2
19. Draw a circle of radius 4 cm. from a point P, 7 cm. from the centre of the circle, draw a pair of tangent to the circle. Measure the length of each tangent segment.

20. In Figure, ABC is a guardant of a circle of radius 14 cm. and a semicircle is drawn with BC as diameter. Find the area of the shaded region.
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21. Find the coordinates of the points of trisection of the line segment joining (4,-1) and (-2, -3).

22. In figure ∠ ABC=900 and CD⊥ AB prove that [image: image8.png]BC*
e
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23. In a potato race, a bucket is placed at the stariting point, which is 5m from the first potato and the other potatoes are placed 3m apart in a straight line. There are ten potatoes in the line. A competitor start from the bucke, picks up the nearest potato, run back with it, drops it in the bucket, run back to pick up the next potato, runs to the bucket to drop it in and she continues in the same way until all the potatoes are in the bucket. What is the total distance the competitor has to run? 
24. Prove that-
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OR


Evaluate-
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 + 2tan150 tan450 tan750.

Q.25
For what value of ‘m’ will the equation 2m x2 – 2(1+2m)x + (3+2m) =0 have real and equal roots.







Section-D

Section D contain 5 questions of 6 marks each.

Q.26
Sum of the area of two squares is 468 m2 .If the difference at their perimeters is 24m. Find toe sides of the two squares.

Q.27
The angle of elevation of a cloud  from a point 60m above a lake is 300 and the angle of depression of the reflection of the cloud in the lake is 600, Find the height at the cloud.

Q.28
Prove that the length of the tangents drawn from an external point to a circle are equal. Using the above theorem.


A quadrilateral ABCD  is Drawn to circumscribe a circle prove that AB+CD = AD+BC.







OR


Prove that the ratio of the areas of two similar triangles in equal to the ratio of the squares on their corresponding sides using the above prove the following. If the areas of two similar triangles are equal, prove that they are congruent.

Q.29 A metallic right circular cone 20cm high and whose vertical angle is 60o is cut into plane parallel to its bare. If the frustum so obtained be drawn into a wire of diameter 1/16 cm, Find the length of the wire.

Q.30 Find the mean, mode, median of the following data.
	C.I.

Fi
	10-20

    4
	20-30

    8
	30-40

  10
	40-50

   12
	50-60

   10
	60-70

    4
	70-80
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